14 y=kx* and y=.kx, x>0
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(5 marks)

Question 14 Notes:

M1:

Al:

M1:

B1:

Al*:

Equates the two curves and solves kx* = \/kx to give x =...

1
x=§ﬁ or x=k 3
k

Evidence of attempting J.( kx — kxz) dx or (J‘\/ﬂ dx — Ikxz de with at least one of either

3
Jkx > +ax? or kx> >+ px*; a, f#0. You can ignore the limits for this mark

3

Kx
2

Correct use of integration and limits to show that, for all values of k, the area of R is %

At least one of either \Jkx — or kx* > %k x*, which can be un-simplified or simplified




